
 

C–2433/BBYCT–135 P. T. O. 

No. of Printed Pages : 10 BBYCT–135 

BACHELOR OF SCIENCE 

(GENERAL) (BSCG) 

Term-End Examination 

June, 2025 

BBYCT-135 : PLANT ANATOMY AND 

EMBRYOLOGY  
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Note : Question No. 1 is compulsory. Attempt 

any four questions from Question Nos. 2 

to 8. Draw well labelled diagrams 

wherever necessary. 

1. (a) State whether the following statements 

 are 'True' or 'False' : 4×1=4 

  (i) Bulliform cells are present in 

abaxial epidermis of grass leaves. 
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  (ii) All tropical tree exhibit a 

continuous cambial activity. 

  (iii) Rhizodermis plays an important 

role in nutrient uptake by the plant 

roots. 

  (iv) Most apomicts produce a 

degenerate or complete embryo sac.  

 (b) Fill in the blanks : 4×1=4 

  (i) In fruits, seeds are attached to  

a fruit wall by a stalk known  

as ................. . 

  (ii) ………… cells form the entire 

embryo. 

  (iii) The cell having thick lignified walls 

is called as …………. 

  (iv) Young leaf primordium arises as a 

small protuberance in ………. . 
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 (c) Match the items given under Column  'A' 

with those given under 'Column B' : 

4× 

 
=2 

   Column 'A' Column 'B' 

  (A) Monocot stem (i) Leaves 

  (B) Dicot stem (ii) Phloem on 

      either side  

     of xylem 

  (C) Bicollateral (iii) Vascular  

     bundles  

     arranged in  

     a ring. 

  (D) Petiole (iv) Protoxylem 

      cavity 

2. Differentiate between any two of the 

following :  2×5=10 

 (i) Stomatal Frequency and Stomatal 

Index 

 (ii) Endosperm of gymnosperms and 

 Endosperm of angiosperms 

 (iii) Pericycle and Endodermis 

 (iv) Syngamy and Triple fusion 
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3. What is end product of triple fusion ? 

Explain its structure and function with 

labelled diagram.  10 

4. (a) Discuss various theories of shoot apical 

 organization with the help of a labelled 

 diagram. 5 

 (b) Why are phloem and xylem considered 

as  complex tissues ? 5 

5. (a) Discuss fruit development in caryopsis 

 and berry fruits. 5 

 (b) Explain the mechanism of salt removal 

 by the mangroves. 5 

6. (a) What are the differences between 

 ectomycorrhiza and endomycorrhiza ? 5 

 (b) What is adventive polyembryony ? 

 Discuss with suitable example. 5 

7. Describe secondary growth in a typical 

dicotyledonous stem using properly labelled 

diagram.   10 
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8. Write short notes on any four of the 

following :  4×2 

 
 = 10 

 (i) Quiescent centre 

 (ii) Succulent plant 

 (iii) Nucellus 

 (iv) Aggregate fruit 

 (v) Parthenogenesis 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 [ 6 ]  BBYCT–135 

C–2433/BBYCT–135 

 BBYCT–135 

foKku Lukrd (lkekU;) (ch-,l-&lh-th-) 

l=kar ijh{kk  

twu] 2025 

ch-ch-okbZ-lh-Vh-&135 % ikni 'kkjhj vkSj Hkwz.k foKku 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % iz'u la- 1 vfuok;Z gSA iz'u la- 2 ls 8 rd fdUgha pkj 

iz'uksa ds mÙkj nhft,A tgk¡ dgha vko';d gks] ogk¡ ij 

lqukekafdr fp= cukb,A 

1- (d) crkb, fd fuEufyf[kr dFku ^lR;* gSa ;k ^vlR;*% 

 4×1=4 

  (i) cqyhQkWeZ@vko/kZ Roddksf'kdk,¡ ?kkl dh 

ifÙk;ksa dh vik{k ,ihMfeZl ij ikbZ tkrh g®A 

  (ii) lHkh m".kdfVca/kh o`{k lrr~ dSfEc;eh fØ;k 

n'kkZrs g®A 
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  (iii) ewy Ropk@jkbtksMfeZl ikni dh tM+ksa }kjk 

iks"kd rRoksa dks xzg.k djus esa egRoiw.kZ Hkwfedk 

fuHkkrh gSA 

  (iv) vf/kdka'k vlaxtfud@,iksfeDV viÎklh ;k 

iw.kZ Hkzw.k dks'k fufeZr djrs g®A 

 ([k) fjDr LFkkuksa dks Hkfj, % 4×1=4 

  (i) Qyksa esa] cht QyfHkfÙk ls ,d o`ar }kjk tqM+s 

jgrs g®] ftls ………dgrs g®A 

  (ii) ………dksf'kdk,¡ lexz Hkzw.k dks cukrh g®A 

  (iii) eksVh fyXuhÏr fHkfÙk;ksa okyh dksf'kdk…… 

dgykrh gSA 

  (iv) r#.k i.kZ vk|d ,d NksVs mHkkj ds :i esa 

………. Eksa fudyrk gSA 

 (x) dkWye ^,* esa fn, x, inksa dk dkWye ^ch* ds inksa 

ls feyku dhft, % 4”
 

 
=2 

          dkWye ^,* dkWye ^ch* 

  (v) ,dchti=h ruk (i) ifÙk;k¡ 
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  (c) f}chti=h ruk (ii) ¶yks,e (iks"kokg)  

     tkbye (nk:) ds nksuksa 

     rjQ gksrk gSA 

  (l) mHk;¶yks,eh (iii) laogu iwy oy; esa 

      O;ofLFkr gksrs g®A 

  (n) i.kZo`ar (iv) izksVkstkbye@vkfnnk: 

      xqfgdk 

2- fuEufyf[kr esa ls fdUgha nks ds chp vUrj crkb, % 

2×5=10 

 (i) ja/kz vko`fÙk vkSj ja/kz lwpdkad 

 (ii) vuko`rchft;ksa@ftEuksLieZ dk Hkzw.kiks"k vkSj 

 vko`rchft;ksa@,fUt;ksLieZ dk Hkzw.kiks"k 

 (iii) ifjjaHk vkSj ,.MksMfeZl 

 (iv) ;qXed lay;u vkSj f=lay;u 

3- f=lay;u dk var mRikn D;k gS \ bldh lajpuk vkSj 

dk;Z dks lqukekafdr fp= ds lkFk le>kb,A 10 
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4- (d) lqukekafdr fp=ksa dh lgk;rk ls izjksg 'kh"kZ laxBu ds 

 fofHkUu fl¼kUrksa dh O;k[;k dhft,A 5 

 ([k) ¶yks,e vkSj tkbye dks iw.kZ Ård D;ksa ekuk tkrk 

 gS\ 5 

5- (d) dSfj;ksfIll vkSj csjh (ljl) Qyksa esa Qy ds 

 fodkl dk fooj.k nhft,A 5 

 ([k) e®xzkso }kjk yo.k fu"dkflr djus dh fØ;kfof/k dks 

 le>kb,A 5 

6- (d) cká dodewy vkSj var%dodewy esa D;k vUrj  gksrs 

g® \   5 

 ([k) viLFkkfud cgqHkzw.krk D;k gS \ mi;qDr mnkgj.kksa ds 

 lkFk le>kb,A 5 

7- ,d izk:fid f}chti=h rus esa f}rh;d o`f¼ dk 

lqukekafdr fp= lfgr o.kZu dhft,A 10 

8- fuEufyf[kr esa ls fdUgha pkj ij y?kq fVIif.k;k¡ fyf[k, % 

4”2
 

 
=10 

 (i) 'kkar {ks=@dsUnz 
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 (ii) xwnsnkj@ekalyksn~fHknh ikS/ks 

 (iii) chtkaMdk; 

 (iv) iqatQy 

 (v) vfu"ksdtuu 

× × × × × 

 

 

 

 

 

 

 

 

 

 

 


